
SAP ABAP table DIAN_C_WTH {DIAN Withholding Tax}

DIAN_C_WTH

MANDT [CLNT (3)]

DIAN_YEAR [NUMC (4)]

DIAN_FORMAT [NUMC (4)]

DIAN_CONCEPT [NUMC (4)]

LINE_ID [RAW (16)]

WITHT_FROM [CHAR (2)]

WITHT_TO [CHAR (2)]

WITHCD_FROM [CHAR (2)]

WITHCD_TO [CHAR (2)]

DIAN_C_CONCEPTS

MANDT [CLNT (3)]

DIAN_YEAR [NUMC (4)]

DIAN_FORMAT [NUMC (4)]

DIAN_CONCEPT [NUMC (4)]

 DIAN_C_WTH-DIAN_CONCEPT = DIAN_C_CONCEPTS-DIAN_CONCEPT 
0..N

1  DIAN_C_WTH-DIAN_FORMAT = DIAN_C_CONCEPTS-DIAN_FORMAT 
0..N

1  DIAN_C_WTH-DIAN_YEAR = DIAN_C_CONCEPTS-DIAN_YEAR 0..N

1 T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 DIAN_C_WTH-WITHT_FROM = T059P-WITHT 0..N{0,1}
 DIAN_C_WTH-WITHT_TO = T059P-WITHT 

0..N{0,1}

T059Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

 DIAN_C_WTH-WITHCD_FROM = T059Z-WT_WITHCD 

0..N

{0,1}

 DIAN_C_WTH-WITHCD_TO = T059Z-WT_WITHCD 

0..N

{0,1}


